

ROMANIAN MATHEMATICAL MAGAZINE

SP.605 Let be $A(1, 2, 1); B(2, 1, 3); C(4, 4, 4)$. Find the distance from the point A to the line BC .

Proposed by Daniel Sitaru – Romania

Solution 1 by proposer

$$\begin{aligned}
 \overrightarrow{AB} &= (x_B - x_A)\vec{i} + (y_B - y_A)\vec{j} + (z_B - z_A)\vec{k} = \\
 &= (2 - 1)\vec{i} + (1 - 2)\vec{j} + (3 - 1)\vec{k} = \vec{i} - \vec{j} + 2\vec{k} \\
 \overrightarrow{AC} &= (x_C - x_A)\vec{i} + (y_C - y_A)\vec{j} + (z_C - z_A)\vec{k} = \\
 &= (4 - 1)\vec{i} + (4 - 2)\vec{j} + (4 - 1)\vec{k} = 3\vec{i} + 2\vec{j} + 3\vec{k} \\
 BC &= \sqrt{(x_C - x_B)^2 + (y_C - y_B)^2 + (z_C - z_B)^2} = \\
 &= \sqrt{(4 - 2)^2 + (4 - 1)^2 + (4 - 3)^2} = \sqrt{4 + 9 + 1} = \sqrt{14} \\
 \overrightarrow{AB} \times \overrightarrow{AC} &= \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ 1 & -1 & 2 \\ 3 & 2 & 3 \end{vmatrix} = -3\vec{i} + 6\vec{j} + 2\vec{k} + 3\vec{k} - 4\vec{i} - 3\vec{j} = -7\vec{i} + 3\vec{j} + 5\vec{k} \\
 A[ABC] &= \frac{1}{2} |\overrightarrow{AB} \times \overrightarrow{AC}| = \frac{1}{2} \sqrt{(-7)^2 + 3^2 + 5^2} = \\
 &= \frac{1}{2} \sqrt{49 + 9 + 25} = \frac{1}{2} \sqrt{58 + 25} = \frac{1}{2} \sqrt{83} \\
 d(A, B, C) &= \frac{2[ABC]}{BC} = \frac{2 \cdot \frac{1}{2} \sqrt{83}}{\sqrt{14}} = \sqrt{\frac{83}{14}}
 \end{aligned}$$

Solution 2 by Marin Chirciu-Romania

The distance from the point $A(x_1, y_1, z_1)$ to the line $BC, B(x_2, y_2, z_2), C(x_3, y_3, z_3)$ is:

$$d(A, BC) = \frac{\sqrt{\begin{vmatrix} x_2 - x_1 & y_2 - y_1 \\ x_3 - x_1 & y_3 - y_1 \end{vmatrix}^2 + \begin{vmatrix} y_2 - y_1 & z_2 - z_1 \\ y_3 - y_1 & z_3 - z_1 \end{vmatrix}^2 + \begin{vmatrix} z_2 - z_1 & x_2 - x_1 \\ z_3 - z_1 & x_3 - x_1 \end{vmatrix}^2}}{\sqrt{(x_2 - x_1)^2 + (y_2 - y_1)^2 + (z_2 - z_1)^2}}.$$

The distance from the point $A(1, 2, 1)$ to the line $BC, B(2, 1, 3); C(4, 4, 4)$ is:

$$d(A, BC) = \frac{\sqrt{\begin{vmatrix} 2 - 1 & 1 - 2 \\ 4 - 1 & 4 - 2 \end{vmatrix}^2 + \begin{vmatrix} 1 - 2 & 3 - 1 \\ 4 - 2 & 4 - 1 \end{vmatrix}^2 + \begin{vmatrix} 3 - 1 & 2 - 1 \\ 4 - 1 & 4 - 1 \end{vmatrix}^2}}{\sqrt{(4 - 2)^2 + (4 - 1)^2 + (4 - 3)^2}} =$$

ROMANIAN MATHEMATICAL MAGAZINE

$$= \frac{\sqrt{\left|\begin{smallmatrix} 1 & -1 \\ 3 & 2 \end{smallmatrix}\right|^2 + \left|\begin{smallmatrix} -1 & 2 \\ 2 & 3 \end{smallmatrix}\right|^2 + \left|\begin{smallmatrix} 2 & 1 \\ 3 & 3 \end{smallmatrix}\right|^2}}{\sqrt{4+9+1}} = \sqrt{\frac{83}{14}}$$

.